HARDWARE PACK # : PZN600WBLH

NO. DESCRIPTION SIZE QTY
a CAM BOLT 38mm 22pcs
b CAM LOCK $15mm 22pcs
(o WOOD DOWEL 8 x 30mm 22pcs
d WOOD SCREW 8 x 38mm 10pcs
e SHORT SCREW 4 x 12mm 4pcs
f SHORT BOLT 1/4"-20 x 1/2" 31pcs
g LONG BOLT 1/4"-20 x 7/8" 8pcs
h N g SMALL BOLT 3/16"-24 x 1/2" 10pcs
i @ NUT 3/16" 4pcs
j & SHELF BOLT 12pcs
K @ PLAS'II_'FCGPLUG 20 x 20mm 3pes
| @ PLESQI'-II-Z(I)?I\I,I_UG 13 x 38mm 4pcs
m & PLASII%PPLUG 13 x 38mm 8pcs
n ® Fo;:mll?%ilasar $21mm 2pcs
0 % STICKER 12pcs
p a GLUE 1pc
q P ALLEN KEY 4mm 1pc




PARTS FOR ZN600WBL
Complete Hardware # : PZN600WBLH

PZN600WBLBLF
BACK LEFT FRAME

PZN600OWBLTP
PZN600WBLFLF TOP PANEL
FRONT LEFT FRAME PZN600WBLLS

LIGHT STRIP

PZN600WBLMP
MIDDLE PANEL PZN600WBLBRF
BACK RIGHT FRAME
PZN600WBLTPP
TOP PLASTIC PLUG
PZN600WBLTB

PZN60OWBLFP ~

FRONT PANEL

TOP METAL BAR

PZN600OWBLSS
|_—"SIDE SHELF
PZN600OWBLFB NS
FOOT RAIL BAR PZN600WBLSG

STEEL GUARD

PZN600WBLFRB
FOOT RAIL BRACKET

PZN600WBLBPP
BOTTOM PLASTIC PLUG

PZN600WBLFRBPP
FOOT RAIL BRACKET PLASTIC PLUG

PZN600WBLFRF
FRONT RIGHT FRAME

PZN600WBLWRP
WINE RACK PANEL

PZN600WBLGH

GLASS HOLDER

J {
/ PZN600WBLWRS
PZN600WBLBRP > WINE RACK STRETCHER

BACK RIGHT PANEL

PZN600WBLMS
MIDDLE SHELF

PZN600WBLFRBEC
FOOT RAIL BAR END CAP

PZN600WBLMRP
MIDDLE RIGHT PANEL

- ———__PZN600WBLS

PZN600WBLBB STICKER
BASE BOARD
PZN600WBLMLP
MIDDLE LEFT PANEL C % PZN600WBLCC
PZN600WBLBLP, CORD CLAMP
BACK LEFT PANEL
PZN600WBLPC

POWER CORD




PARTS FOR ZN600WBL
Complete Hardware # : PZN600WBLH

PRODUCT DETAILS

TOP PANEL

MIDDLE PANEL

FRONT PANEL

MDF

BACK RIGHT PANEL

BACK LEFT PANEL

MIDDLE RIGHT PANEL

MIDDLE LEFT PANEL

BASE BOARD

MIDDLE SHELF

SIDE SHELF

PB

BACK RIGHT FRAME

BACK LEFT FRAME

FRONT RIGHT FRAME

FRONT LEFT FRAME

TOP METAL BAR

FOOT RAIL BAR

FOOT RAIL BRACKET

GLASS HOLDER

STEEL GUARD

WINE RACK PANEL

WINE RACK STRETCHER

IRON/CHROME

LIGHT STRIP

LED

CORD CLAMP

FOOT RAIL BAR END CAP

TOP PLASTIC PLUG

BOTTOM PLASTIC PLUG

FOOT RAIL BRACKET PLASTIC PLUG

PLASTIC

STICKER

PAPER

POWER CORD

PLASTIC+IRON

VOLTAGE OF POWER CORD

100~240V

PRODUCT SIZE

W52.25" x D21.25" x H41.5"

CARTON SIZE

W58.75" x D37.75" x H5.5"

NET WEIGHT

99.42 LBS

GROSS WEIGHT

110.35 LBS

CU.FT.

7.06'/ CTN

Made In Taiwan
Hecho en Taiwan
Fabriqué en Taiwan






